H & 0l & AHS B Ml A

FA: 2
Hy: X2 NAS(E2D)
ool NREe NI (DEARIIS) (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SFu 1,639,100 811,000 828,100
MXzd XNELR(S2) 405,000 165,000 240,000
WHREH XN (DEAMEIIS) 405,000 165,000 240,000
DEALEDIIRH =8 405,000 165,000 240,000
201 fer= 3| 57,000 45,000 12,000
01 At 2|l 55,000 45,000 10,000
cE22(CEH, BEEE S) M
5,200,000& 102 52,000
o3 oFA+Y 1,000,000& 1,000
oJlSAte 2HEE 2,000,000& 2,000
03 A2 Y| 2,000 0 2,000
oDEAIRIClY BAL EHOf
2,000,000& 2,000
301 22N = 3,000 3,000
14 JIEt2 = 3,000 3,000
S USAIEI|IFH &0 OIHE
500,000& 62 3,000
307 elztol & 275,000 120,000 155,000
02 2IZHBYAIHE £ 120,000 120,000 0
o NElts SSH 243t A
120,000,000 120,000
1 ABI S XA EE 155,000 0 155,000
oue H= s AhlA
100,000,000 100,000
oHO0DbE NEAIE Ol ZcHY Al
30,000,000& 30,000
oXI0 220 &t oA
25,000,000 25,000
405 AtatE = 70,000 70,000
01 Tt =S F=SH 70,000 70,000
oHO0Db=s NEAIE Ol Ly At
70,000,000 70,000
Hees(E2n) 1,234,100 646,000 588,100
SEIES(DEAZIIZ 1,234,100 646,000 588,100
OIXl= 1,234,100 646,000 588,100
602 KIXl=S 1,234,100 646,000 588,100
01 BtolXI=S 1,234,100 646,000 588,100
SR b= 1,234,100,000& 1,234,100
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